(EEERREEEAMERAXIBEL - TEEEOHEANE(BR)] SH2E4ARE
oa7| &S L [ Rl I
103 REE1 48.45 16 1,425
1 [ 112 M REEETHE (B = 121.12 50 3,548
113 HAIREEETHE (EE)=E 121.12 32 3,548
201 RE|E2 48.45 16 1,425
202 THE=1 96.90 42 2,821
203 REES 48.45 16 1,425
211 REAMIEE 24.22 — 727
2
212 RERMIEE2 24.22 - 727
213 THE=2 72.67 30 2,123
214 BRERMETHEE 72.67 30 2,123
215 BRERMNETHMEE2 72.67 30 2,123
301 % BHITHEE 218.02 114 6,369
(301-a) (Z BHIPHE=1-a) 96.90 50 2,821
3F | (301-b) (Z BHITHE=1-b) 121.12 64 3,548
311 PHE=S 96.90 42 2,821
312 THE=4 169.57 84 4,944
402 AEATIEES 24.22 - 727
411 Z BMIBHEES 266.47 150 7,765
A&
(411-a) (% BHIBHE=ES-a) 145.35 82 4,246
(411-b) (% BHIBHEZES-Db) 121.12 68 3,548
X AR BAMEEZZEQFAMEFQOBRRITHYFT,

KRICTHASN LIS, CHAERKEEREL. HEEEELFT,
X T01ZBEMBHEE1 M1 Z BMBHEES I, BHEEZ R EILI-FMLAIRETT .



